A. K. T. ACADEMY MATRIC. HR. SEC. SCHOOL - KALLAKURICHI
DEPARTMENT OF SOCIAL SCIENCE
REVISION TEST - 11
MODEL QUESTION -1
SOCIAL SCIENCE

TIME: 3 Hrs.
PART -1

1. Choose the correct answer 14x1=14

1.

Who initiated the formation of League of Nations?

a) Roosevelt b) Chamberlain c) Woodrow Wilson d) Baldwin
Where was the Japanese Navy defeated by the US Navy?

a) Battle of Guadalcanal b) Battle of Mid way

c) Battle of Leningrad d) Battle of El Alamein

i) Ramakrishna Mission was actively involved in social causes such as education,
health care, relief in time of calamities.

ii) Ramakrishna emphasised the spiritual union with god through ecstatic
practices.

iii) Ramakrishna established the Ramakrishna Mission

iv) Ramakrishna opposed the Partition of Bengal

a) i) is correct b) i) and ii) are correct

c) iii) is correct d) i), iii) or iv) correct

Who had established close relationship with the three agents of Chanda Sahib?

a) Velunachiyar  b) Kattabomman c) Puli Thevar d) Oomai thurai
After the death of , the Maruthu brothers worked along with his brother
Oomathurai.

a) Velunachiyar b) Muthu Vadugar c) Puli thevar d) Kattabomman
Which of the following organization has divided the Indian soils into 8 major
groups?

a) Indian Council of Agricultural Research

b) Indian Meteorological Department

c) Soil Survey of India

d) Indian Institute of Soil Science

The most important constituents of petroleum are hydrogen and

a) Oxygen b) Water c) Carbon d) Nitrogen

The first Nuclear Power station was commissioned in

a) Gujarat b) Rajasthan c) Maharashtra  d) Tamil Nadu
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is a silverly grey element.
a) copper b) Manganese c) Bauxite d) Mica
_____are generally formed by the weathering of rocks under different conditions.
a) Soils b) Water c) Air d) None of these
The Governor does not appoint
(a) Chief Minister
(b) Chairman of the State Public Service Commission
(c) Advocate General of the State
(d) Judges of the High Court
Consider the following statement and tick the appropriate answer:
Arrange the following in the correct chronological order and choose the correct
answer from the code given below.
(i) Panchsheel
(ii) China's Nuclear test
(iii) Twenty-year Treaty
(iv) First Nuclear test of India
a) (i), (iii), (iv), (ii) b) (i), (ii), (iii), (iv)
c) (i), (ii), (iv), (iii) d) (i), (iii), (ii), (iv)

Indian government was introduced in 1991

a) Globalization b) World Trade Organisation
c) New Economic Policy d) none

Assertion (A): Purchasing power increases, price decreases and vice versa.

Reason (R): The production of goods decline, the price of goods increases and
then the purchasing power is affected.

a) Ais correct, R is false

b) Both A and R are false statements

c) Ais correct but R is not a correct explanation

d) Ais correct, R is the correct explanation of A

PART - 11

II. Answer any 10 Questions. Question No.28 is compulsory 10 x2=20

15.
16.
17.
18.
19.
20.

Describe the Pearl Harbour incident.

Write a short note on Battle of El Alamein in 1942.
Write a short note on Non — Aligned Movement.

Write a note on reforms of Ramalinga Adigal.
Kuyili was a faithful friend of Velunachiyar — prove.
Define soil.
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What are the factors determinants to determine the Agriculture?

Name the important oil producing regions of India.

Write a short note on Solar Energy.

What is migration? State its types.

What are the qualifications for the appointment of Governor?

Explain India’s nuclear policy.

Write the types of globalization.

What are the Top and Bottom MPI (Multi-dimensional Poverty Index) districts in
Tamil Nadu.

PART III
. Answer any 10 questions. Question No. 42 is compulsory

Match the following:
a. Lend Lease Journal
b. Oru paisa Tamilan Highest dam in the India
c. Tehri subsidized rates
d. Indian Ocean island Roosevelt
e. Public Distribution System Maldives
Describe the causes of the World War Il.
Analyse the effects of the World War II.

(a) Distinguish between the following:

1. Intensive Farming and Mixed Farming
2. Density of population and Growth of population

(b) Give reasons:
1. Rain water harvesting is necessary.
Discuss the circumstances that led to the Reform movements of 19th century.

Highlight the tragic fall of Sivagangai and its outcome.
State any five types of soil in India and explain the characteristics and distribution of soil.

What is urbanization? Explain its problem.

What are the powers and functions of the Chief Minister?
Discuss the core determinants of India’s foreign policy?
Write the challenges of Globalization.

What are the factors affecting the purchasing power and explain them.

Draw a Time — Line from 1915 to 1935 (any five events of Indian National Movement)
On the outline map of world, mark the following places.

1. Brazil 2. Rumania 3. Hawai Island 4. Tokyo 5. Belgium
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PART -1V

IV. Answer both questions: 2x8=16
43. (a) (i) Evaluate the contributions of Ramakrishna Paramahamsa and Swami

Vivekananda to regenerate Indian society.

(ii) Account for the outbreak of Vellore Revolt in 1806.
(OR)
(b) Attempt an essay of the heroic fight Veerapandya Kattabomman conducted
against the East India Company.

44. (a) On the outline map of India, mark the following places

. Demarcate the major tracts of alluvial soils.

. Delineate the main regions of black soil.

. Demarcate the regions of desert soil.

. Godavari delta

. Mark any one Copper ore region

. Mark any one Coal mining center

. Mark any one Iron ore production center

. State of highest literacy in India

(Or)

(b) On the outline map of India, mark the following places
1. Delineate the main Forest and Mountain soil
2. Shade the Peaty and Marshy soil region.
3. Shade the Red soil region
4. Mumbai

5. Cauvery Delta

6

7

8
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. Mark any one Natural Gas production
. Mark any one Petroleum centers.

. Densely populated state of India.

/****/
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